Multiplication de Trois Trinomes (H)

Simplifiez chaque expression.

1 (22° —42° 4+ 62)(2° + 327 +62)(=32> — 62+ 1)

2. (8¢° + 59" + 4¢%) (99" — 997 + 99)(—7¢° — 3¢* — 9¢?)

5. (=6y* — 6y° + 5y%) (5y"* — 5y — Ty*) (6y° — 8y + 1)

L (32 + 52 + 5)(82% — 2% — 22)(2® 4 Tz + 2)

Ot

(8% — 3t — 9)(—6t" + 8% +7)(+* + 4t — 9¢)

6. (=Tm* — 2m* — Tm?)(Tm?* — 2m + 3)(—6m® 4+ Tm* — Tm)

-3

(851 4 95% — 55%) (55t + 75> + 7s?)(s* + Ts — 3)

(497 + 47+ 4y) (—Tyt + 5y + 2y7) (—3y° — Tyt — 4y?)

08

~

0. (—h* 4 Th? — Th)(—8h® — 4h* — 2h)(—Th* + Th® — 4h?)

10. (=5¢* = 5¢° — ¢*)(—2¢" — 5¢" — 3¢°)(—4q" — 2¢° + 9¢*)
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Multiplication de Trois Trinomes (H) Réponses

Simplifiez chaque expression.

1(22% — 422 +62)(2° + 322 + 62)(=322 — 62 + 1)
— —62% — 1827 — 2825 — 162° — 662* — 22222 + 3622

2 (89”4 59" +44”) (99 — 997 + 99)(=T¢° — 3¢" — 9¢°)
= —504¢™ — 27¢"% — 1008¢™ — 9¢' — 846¢° — 189¢° — 324¢"

3. (=6y* — 6y° + 5y*) (5y" — 5y° — Ty*) (6y° — 8y +1) _
= —180y'% + 240y” + 552y° — 674y" — 249¢° + 297y° — 35¢*

1. (32% + 51 + 5)(82° — 2% — 22) (2% + T2 + 2)
— 242" + 2052° + 3362° + 2622* — 572° — 1002 — 20x

(8% — 3t — 9)(—6t* + 8° + 1) (#* + 4t — 9t)
— —48t? — 110t% + 798t" — 661t° — 6511° + 639t* + 81>

(@

6. (=Tm* — 2m* — Tm?)(Tm?* — 2m + 3)(—6m® 4+ Tm* — Tm)
= 294m? — 343m® + 739m" — 510m°® + 644m° — 203m* + 147m>

7. (851 + 953 — 55%)(5s? + 75 + 75%) (5% + 7s —3)
= 405" + 3815 + 6815% + 383s” — 121s% — 3295° + 105s*

Sy’ + 497 + ) (—Ty' 4 5P + 207 (=3 — Tyt — 497)
= —84y" — 52y + 272410 4 220¢° — 156y° — 168y" — 32¢°

9. (—=h® 4+ Th? — Th)(—8h3 — 4h* — 2h)(=Th* 4+ Th® — 4h?)
= —56h" + 42017 — 606h°% + 320h" — 120h° + 42h° — 56R*

10. (=5¢" —5¢° — ¢*)(—2¢" — 5¢° — 3¢*)(—4q" — 2¢° + 9¢°)
= —40¢™ — 160¢" — 148¢" 4 151¢” + 326¢° + 174¢" + 274"
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